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Q, Preview Question

= BaEC 1-1‘I7\I No Limit
Sl ge Slegaze G BVl duwlya) )Liil bbxe plaziwl 0
Interpret scatter plot that shows Crma Al 3 JladsY) saws LES) Jadada
population of children from 2000 o 212010 1) 2000 (e 558 B
to 2010 based on the shape of s J<i
distribution.
Wiusasnsaanasaly Musass
E e 11T T T — o % e
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S 42 [ o o = 42 | & s
e 1 ' 8
5 40 - [ 3 40— |
E 2 [ [T 1] x 27 ] | x
% 012345678 910112 0123456728 910112
Years Since 2000 2000 die &l gl

JulsY) slaef cid aleeY) cal Lals

As the years increase number of children is fixed

Sl slae] il alge) sl Ll

As the years increase number of children decrease

Sk slaef ) alsed) ) Lals

As the years increase number of children increase

bl g Y

There is no association i
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Q Preview Question

= BeEC

1-1 N ‘ No Limit
Sl egane g BWHYI i dwly) )Ll Ialake elaiiul o

Choose the scatter plot of the data e Bl an el clilal) LAY Jalada 54
which shows a nonlinear positive cngae aa

association.
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Q Preview Question

Ul ge Olauis cly2Y lgolaziwly Wiiad Juas ¥l Olosdimall gy
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Choose the line that seems to best

represent the data.
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Q Preview Question

dlis Jglaz eliv]

W N

LIRS

Ahmad surveyed students at his
school about the type of electronic
devices they own.

Find the relative frequency by
column of the students who do not

have any device.

iPad No iPad Total

Laptop 30 10 40
No Laptop 20 40 60
Total 50 50 100

0%

BeoECT

O Aluyra (b CDall ledin) seaf g
Agissla N daig S Bigad) gl

gt S Bl sl )
e @) Oesliar Y ) Skl

Galle  geile ¥

2 ¥l
iPad  iPad o)
‘;’_"""""‘apt;ﬁ 30 10 40
yeSlie ¥
'i’.aptoﬁ 20 40 60
eyl 50 50 100
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Q Preview Question

by 3S5edll Guulis Sl

The data in the table represent the
results of a survey about distance
driven over spring break.

Find the mean of the data set.

Distance Driven over Spring Break (km)

10 30 50 30

25 35 40 20
a 32.5
b. 50
<| 875
d 35
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Ce g il Jgaall b clibal) Jia
o) A B §lacdly de glafial) dblacal
Ll de ganal Jacgll angf

(km) g ibac (o2 3 )bty e gladed) Lilugd!

70 30 | 50 | 30
5 | 35 | 40 20



Q Preview Question

Lyypaudiy Ul go dcgazal Glball lyiVl bhuwgio sl

The goals scored by a football team
are shown in the table.

The standard deviation of the goals
is about 1.9.

Describe the data that are within

one standard deviation of the mean.

Number of
Goals

3 1
2 6

g Glaa Ciladl Gad A 4.95 1.1 G Gilay)

EoET

\m

b Aaiaga addl) B (310 W)l A Cilaad)
-Jgaal)
1.9 Lujis (sl il (gjlunall Caliasy)

aaly Glaa Ciladl Gad adi Al Gllal) Coa

The goals between 1.1 and 4.9 are within one standard deviation

g Glaa Ciladl Gad A 7.9 2.1 G i)

The goals between 2.1 and 7.9 are within one standard deviation

Ay Glaa Gladl Gad 2 7.95 2.9 G alaayy

The goals between 2.9 and 7.9 are within one standard deviation

aly (laa Cilal) (e A 65 1 (e AIY)

Jasgl) Cre
BRI
alaa Y
3 [ 1
2 | 6
@)
@)
@)
@)

The goals between 1and 6 are within one standard deviation
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Q, Preview Question

= BE&EC 1-1‘& No Limit
Sl Olsy joi Juli e
Mona took a survey of the number Qlad clpe ae o ledaial e capal
of times her classmates went to ity . gdd) 1aa Labad) ) Lg3Bha)
the cinema this month. The results Lol Jabhdal) L8 daiage
are shown in the line plot below. CAasana 40Y) cflal) e o
Which of the following statement
is correct?
Number of Times to G el Sl pe das
Cinema Per Month i) § L)
x X X X 2
X X X X
Cx XX XX X x x| AR ERT
s i asafiene b IS ESiaib
9 58 (o fsad dlia
a ®)
There is a gap between 8 and 9
17 sl
b. ke @)
There range is 17
3l Chiagh Juadly) ulal s Jacgl) O
" The mean is the best measure to describe the center
flaie & aujsill
) Jilaia & aujsil o .

Distribution is hon-symmetric
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Q, Preview Question

= B EHCC
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\m

leluiadg Ol giusally Ologiiuiellg bEUI 3oz o

Which of the following terms best Uil Chag Jabl et 45Y) julaill a6

describe points B, M and C? ‘CsM B

e A

dilate O
Congruent
;Li. ™

L Aylsie o
Parallel

) Gghal) Gl B Cuad o
Skew
Bas)g Aaldio

. Baaly e o

Collinear
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Q, Preview Question

deblaiall OU giuwellg Olosbiwall 3yai

Which of the following is the point

of intersection between lines q, t?

2 M
. H
¢ L
i P
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Q, Preview Question

BeEC ‘ n
bl pl ol o lusdl
Find the length of PQ if Q is (R P o ads Q cils 13) PQ Jsh gl
between P and R, PQ = 2a — 1, sQR=2a sPQ=2a-1
QR = 2a, and PR = 19 cm. .PR =19 cm
/\ 19 cm
p ]
2a-1 Q >
R
a PQ="17cm O
b. PQ =10 cm @)
¢« PQ=9cm O
d PQ=5cm O
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Q, Preview Question

= BoEC 1-1‘m No Limit
o sfiaall gl polsh o
Find the length of the pen using Splacal) aladiuly aldl) Jgha angf
the ruler.
! d
: o' 4
| 4 :
\ L |
W 4 :
. :
AR AR RLARRRART [RRAEARAY LARRVURARY fULN
cm 1 2 3 4
2 2.5cm @)
b. 3.0 cm @)
¢ 2.6cm @)
d 2.8cm @)
i
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Q, Preview Question

Find the coordinate of M, the
midpoint of the segment AB where

A(-2,5), B(4,-7).

J ey
| e88
| @
| G
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Chaiiall dhasi a9 M daii) s Lo
C¢us AB daficall dataill
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Q, Preview Question

dolaziwlg glae (b &)Ll Llgill Olwls ¢ gazo Sl

Find the value of x in the diagram.

12x

BEoECT

\w

i) al) B x dad aal

14x°

¥ 100°

a x=26
b x =100
¢ x=260
d x=10
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Q Preview Question

No Limit

= BoHECT

\m

ledaboig eI U jlgio Llgjg el yolg> i )

A Scissor lifts is shown below, in the ) A Jaud ot dauinge dualia ded),

diagram, ABCD is a parallelogram. g4l Slgia 8 ABCD « Jadait)
Suppose AB = 8m, and BC = 9m BC = 9m «AB = 8m ()l ay)
find AD. AD a4

= AD =9m O
. AD = 10m @)
< AD = 8m O
d.  AD = 8.5m @)
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Q Preview Question

= BoEHCC

No Limit

\m

leiubig MYl Ol jlgis HUosl yolgs Py

Find the value of x in the gl £ 5lgia B X Ao ansl

parallelogram shown.

A\
A\Y
x —20
W
Wy
a x=15 O
b. x=05 O
¢| =2 O
d x =35 O
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Q Preview Question

= BEaEC 1-1‘I7\I No Limit
ol ilsin eyl JSidl 95y of pauds Wil bg il o

Find the value of x so that the Sl JCAY (K Guny x dad angl

quadrilateral is a parallelogram. .&)u:i Silgia

y/
v/
4x — 4 3X+7
y/4
r/d4

a x=3 O

b| #=1 @)

¢« x=11 @)

d  x =40 @)
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Q, Preview Question

= Bl 1-1‘& No Limit
lgdubiy OlMbiwall yolgs ()
Amal is building a hew bookshelf Slale s alaaiuly QISl Las 4y Jal aal
using wood and metal supports 2 dauagall daleal) Jia duiseag duda
like the one shown. If the CuilSy Sabaioe a8l Cdy IS 1Y) .5y guall
bookshelf is rectangle and .ZMON s ,~,MOP = 20°

£LMOP = 20°, find ZLMON.

= ~MON = 90° O
b. ~MON = 60° @)
¢ ~MON = 20° @)
& ~MON = 70° @)
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Q, Preview Question

= BE&EC 1-1‘IZI No Limit
lgiuhig Olusall yolg> o
Quadrilateral JKLM is a rhombus, 139l (e 8 JKLM L) Jeid)
find msKLM, if m/LJK = 40°. msLJK = 40° <6 13 ansKLM
J
K
M
L
a mszKLM = 50° O
b msLKLM = 40° O
¢« msKLM = 80° O
d msKLM = 100° O
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Q, Preview Question

BO@ES 1w
lgiankaiy b)xiall duis yolgs>
If WXYZ is trapezoid, aie dud WXYZ oS )3)
and XY =15, WX =5, find WZ. WX =5 5 XY =15 <
WZ Ja.-ju
W X
o O
55 59
7 Y
a WZ =10
b WZ =5
¢« WZ=15
d WZ =13
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Q, Preview Question

= BB 11 ‘I/—\l No Limit
lgiaskaig d5ys)l Byiliall JSis yolgs P
If ABCD is a kite, find m«B. Ay g 5y JS& e Bue ABCD S 1Y
.msB J:,s\gi
& msB =120° '®)
b msB = 95° '®)
¢ msB = 85° '®)
d mseB = 60° e
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Q, Preview Question

dcgazall iy yoi

Choose the correct answer.

> SE{QRST]

b. M € {L,N,P,R}

¢ 21¢{1,2,3,4,...}

i 16 ¢ {4,8,12,....}
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Q, Preview Question

degozall (W olisdl dac dlx)

Find the cardinal humber of the set
B ={x|xe Nand 15 < x < 20}

a2 4
b. 5
¢ 7
i 6
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.B={x|]xe Nand 15 < x < 20}
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Q, Preview Question

Let U = {1,2,3,4,5,6,7,8,9} and

A=1{2,3,5,7,8). Find A’

» A'={1,9)

b A ={1,4, 6}

< A'={1,4,6,9}

i A ={4,6)

0%

BEoECT

\m

U=1{1,23,45,6,7,8,9} ;i
'A! -‘-‘.‘Ji . A — {2: 3: 51 7: 8}3
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Q, Preview Question

\m

ﬁ e @ ~ No Limit
degazo) dbjall Dlegazoll dac sl (i
Find the number of proper subsets daledl) Luiiall Cile ganal) sac aagl

of the set § = {B, M, N, 0}. .S ={B,M, N, 0} 4s gaaall
a 8 O
b. 16 @)
¢ 15 O
i 4 O
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Q, Preview Question

BoEC 1 ‘ 2 | No L

Olegazall g §illg dliVlg gblail slzy) 0
Use the Venn diagram to find the salie alay Venn (@ hhi, aadiil)
elements of the set (AU B)'. (AU B)’ dcgaaal)
. {15,25,30,40} @)
b {10,35} O
¢ {5,20} @)
d {5,15,20,25,30,40} O
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